LOMBARDINEroup: 7LD

A KOHLER. COMPANEngine: 7LD 600 Drawing: H

LUBRICATING SYSTEM

POS. |CODE DESCRIPTION Qty
1 4670.058 copper gasket diam. 8,2X12X1,5 1
2 1901.048 union bolt M 8 1
3 485.042 lub.oil pipe 1
4 4670.058 copper gasket diam. 8,2X12X1,5 1
5 B630.037 clamp diam.24-36 1
6 K————- » spring - see Pos. H 42 0
7 5265.015 0oil pump contr.lever 1
8 (————— » see Pos. 42 0
9 1970.101 sleeve 2
10 6231.032 lever pin 1
11 5204.004 INJECT.PUMP LEVER 1
13 1400.365 dipstick 1
14 4670.058 copper gasket diam. 8,2X12X1,5 1
15 1901.048 union bolt M 8 1
16 4670.058 copper gasket diam. 8,2X12X1,5 1
19 9730.008 screw M 6 X 10 1
20 565.004 washer diam. 6 1
21 (———— » plate 0
22 2280.061 key 3X3,7X10 1
23 565.004 washer diam. 6 1
24 680.007 0il press.valve 1
25 5755.049 spring 1
26 4670.088 copper gasket 18X24X1 1
27 070.012 pressure valve plug 1
28 1901.048 union bolt M 8 1
29 4670.058 copper gasket diam. 8,2X12X1,5 1
30 790.037 screw M 6 X 8 1
31 3617.018 clamp 1
32 5401.011 rubber sheathing 2
33 4670.058 copper gasket diam. 8,2X12X1,5 1
34 4601.011 gasket 1
35 732.016 screw M 6 X 40 4
36 1760.005 bolt M 6 X 1 X 16 2
37 7565.004 washer diam. 6 2
39 4740.026 gasket 1
40 320.060 suction oil tube 1
41 8300.042 bracket 1
42 1336.032 OIL PUMP ASS.Y (gen.set) 1
42 4896.362 OIL PUMP ASS.Y 1
43 1760.007 bolt M 6 X 1 X 25 1
44 2175.025 oil filter cartridge 1
45 $5725.032 spring 1
46 1202.007 rubber oil seal 1
47 485.041 lubr.oil pipe 1
48 4670.058 copper gasket diam. 8,2X12X1,5 1
49 1901.048 union bolt M 8 1
50 J625.010 washer diam. 8 12
51 1770.056 bolt M 8 X 1,25 X 18 12
52 6647.087 oil pan 1
53 4670.016 copper gasket diam.14 1
54 8965.005 0il drain plug M 14 1
55 7565.007 washer diam. 8 2
56 1770.006 bolt M 8 X 1,25 X 25 2

printed by LOMBARDINI:

11/08/2010 -

1




Group: 7LD

Engine: 7LD 600 Drawing: H

LUBRICATING SYSTEM
POS. |CODE DESCRIPTION Qty
57 2751.038 cover 1
58 «————- » bushing 0
printed by LOMBARDINI: 11/08/2010 - 2




Engine: 7LD 600 Drawing: H

9 10 11 12

"
\

14 15 16 17 \2_18 19 20 21
N PN

53 54 55 56 57

printed by LOMBARDINI: 11/08/2010



